ggd

ud gd ud ud ooooobod
1 = ggd E 500,000
T2 = ggd E 148,750
T2 = ggd E 148,750
T2 = ggd E 148,750
T2 = ggd E 148,750
6 ® gooo E 80,000
7 = ggd E 75,000
8 ("] g E 70,000
9 = goo E 65,000
10 = goo E 62,000
T11 = ggd E 57,500
T11 = ggd E 57,500
T13 = goo E 50,000
T13 ® gooo E 50,000
T13 = goo E 50,000
T13 = gogo E 50,000
T13 = goo E 50,000
T13 = goo E 50,000
T19 = ggd E 44,700
T19 L] gooo E 44,700
T19 = ggd E 44,700
T19 = ggd E 44,700
T19 = ggd E 44,700
T24 L] gooo E 40,000
T24 = ggd E 40,000
T24 = ggd E 40,000
T24 = ud E 40,000
T24 = ggd E 40,000
T29 = goo E 35,000
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ggd

T29

T29

T29

T29

T34

T34

T34

T37

T37

39

T40

T40

T42

T42

44

T45

T45

T45

48

49

50

goo

goo

goo

goo

goo

goo

goo

goo

goo

goo

good

goo

goo

goooo

goo

goo

goo

goo

goo

goo

goo

35,000
35,000
35,000
35,000
31,000
31,000
31,000
28,500
28,500
27,000
25,500
25,500
24,250
24,250
23,500
22,500
22,500
22,500
21,500
21,000

20,000
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